

Mathematics
(www.tiwariacademy.in)
(Chapter - 2) (Polynomials)
(Class X)

Exercise 2.4

Question 1:

Verify that the numbers given alongside of the cubic polynomials below are their zeroes. Also verify the relationship between the zeroes and the coefficients in each case:

(i). $2x^3 + x^2 - 5x + 2$; $\frac{1}{2}, 1, -2$

(ii). $x^3 - 4x^2 + 5x - 2$; $2, 1, 1$

Answer 1:

(i) $2x^3 + x^2 - 5x + 2$; $\frac{1}{2}, 1, -2$

Let $p(x) = 2x^3 + x^2 - 5x + 2$

Therefore, $p\left(\frac{1}{2}\right) = 2\left(\frac{1}{2}\right)^3 + \left(\frac{1}{2}\right)^2 - 5\left(\frac{1}{2}\right) + 2$

$$= 2 \times \frac{1}{8} + \frac{1}{4} - 5 \times \frac{1}{2} + 2$$

$$= \frac{2}{4} - \frac{5}{2} + 2$$

$$= \frac{5}{2} - \frac{5}{2} = 0$$

So, $\frac{1}{2}$ is one of the zeroes of $p(x)$.

Now, $p(1) = 2(1)^3 + (1)^2 - 5(1) + 2$

$$= 2 \times 1 + 1 - 5 \times 1 + 2$$

$$= 3 - 5 + 2$$

$$= 5 - 5 = 0$$

So, 1 is also the zero of $p(x)$.

Now, $p(-2) = 2(-2)^3 + (-2)^2 - 5(-2) + 2$

$$= 2 \times (-8) + 4 + 10 + 2$$

$$= -16 + 4 + 10 + 2$$

$$= -16 + 16 = 0$$

So, -2 is also the zero of $p(x)$.

Therefore, $\frac{1}{2}, 1$ and -2 are the zeroes of $p(x)$.

Now, let $\alpha = \frac{1}{2}, \beta = 1$ and $\gamma = -2$

$$\alpha + \beta + \gamma = \frac{1}{2} + 1 + (-2) = \frac{3 - 4}{2} = \frac{-1}{2} = \frac{-(-1)}{2} = \frac{-(\text{Coefficient of } x^2)}{\text{Coefficient of } x^3}$$

$$\alpha\beta + \beta\gamma + \gamma\alpha = \frac{1}{2} \times 1 + 1 \times (-2) + (-2) \times \frac{1}{2} = \frac{-5}{2} = \frac{-5}{2} = \frac{\text{Coefficient of } x}{\text{Coefficient of } x^3}$$

$$\alpha\beta\gamma = \frac{1}{2} \times 1 \times (-2) = -1 = \frac{-2}{2} = \frac{-(\text{Constant term})}{\text{Coefficient of } x^3}$$

Hence, the relation between zeroes and coefficients is verified.

(ii) $x^3 - 4x^2 + 5x - 2$; $2, 1, 1$

Let, $p(x) = x^3 - 4x^2 + 5x - 2$

Mathematics

(www.tiwariacademy.in)
(Chapter - 2) (Polynomials)
(Class X)

$$\text{Therefore, } p(2) = (2)^3 - 4(2)^2 + 5(2) - 2$$

$$= 8 - 16 + 10 - 2$$

$$= 18 - 18 = 0$$

So, 2 is one of the zeroes of $p(x)$.

$$\text{Now, } p(1) = (1)^3 - 4(1)^2 + 5(1) - 2$$

$$= 1 - 4 + 5 - 2$$

$$= 6 - 6 = 0$$

So, 1 is also the zero of $p(x)$.

Therefore, 2, 1 and 1 are the zeroes of $p(x)$.

Now, let $\alpha = 2, \beta = 1$ and $\gamma = 1$

$$\alpha + \beta + \gamma = 2 + 1 + 1 = 4 = \frac{-(-1)}{1} = \frac{-(\text{Coefficient of } x^2)}{\text{Coefficient of } x^3}$$

$$\alpha\beta + \beta\gamma + \gamma\alpha = 2 \times 1 + 1 \times 1 + 1 \times 2 = 2 + 1 + 2 = 5 = \frac{5}{1} = \frac{\text{Coefficient of } x}{\text{Coefficient of } x^3}$$

$$\alpha\beta\gamma = 2 \times 1 \times 1 = 2 = \frac{-(-2)}{1} = \frac{-(\text{Constant term})}{\text{Coefficient of } x^3}$$

Hence, the relation between zeroes and coefficients is verified.

Question 2:

Find a cubic polynomial with the sum, sum of the product of its zeroes taken two at a time, and the product of its zeroes as 2, -7, -14 respectively.

Answer 2:

Let, $p(x) = ax^3 + bx^2 + cx + d$ be a cubic polynomial whose zeroes are α, β and γ .

Given that:

$$\alpha + \beta + \gamma = 2$$

$$\alpha\beta + \beta\gamma + \gamma\alpha = -7$$

$$\alpha\beta\gamma = -14$$

We know that,

$$\alpha + \beta + \gamma = \frac{-(\text{Coefficient of } x^2)}{\text{Coefficient of } x^3}$$

$$\alpha\beta + \beta\gamma + \gamma\alpha = \frac{\text{Coefficient of } x}{\text{Coefficient of } x^3}$$

$$\alpha\beta\gamma = \frac{-(\text{Constant term})}{\text{Coefficient of } x^3}$$

Therefore,

$$\alpha + \beta + \gamma = \frac{-(\text{Coefficient of } x^2)}{\text{Coefficient of } x^3} = \frac{-b}{a} = \frac{2}{1}$$

$$\alpha\beta + \beta\gamma + \gamma\alpha = \frac{\text{Coefficient of } x}{\text{Coefficient of } x^3} = \frac{c}{a} = \frac{-7}{1}$$

